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A line parallel to the Y axis and intersects the X axis at the point (a, 0).
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3 If a =0, the line lies on the Y axis or is the Y axis.
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A straight line parallel to the X axis and intersecting the Y axis at the point (0, b).
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3 Ifb=0,the line lies on the X axis or is the X axis.




Straight line with defined points and slopes (point-slope form)

Let R(x, y) and P(x_1,y_ 1) be any points on the line L. The slope of

the line PR is equal to the slope of the line L, which is equal to m.




Straight line with two points (two point form)
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Straight line with slope and Y intercept form

(slope - intercept form)

Let the line L have slope m and the Y intercept is b or the Y intercept is (0, b).

From the equation of a straight line given the

L point and slope isy -y 1 =m(x - x_1 )Here
0, b :
/ (x_1,y_1)is (0,b)soy-b=mx-0)

» X

The equation for a straight line that determines the slope and intercept

distance on the Y axis is y = mx + b.
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Straight line with X-intercept and Y-intercept

(intercept form)

Let the line L have an x-intercept of (a, 0) and a y-intercept of (0, b).
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Let L be a straight line with the equation Ax + By + C = 0 and P(x_1
, Y_1) be any point on the plane that is not on the line L. The
distance from point P in the line perpendicular to the line L. length d

units, so that IAxl + Byl +Cl

\/A2+BZ



Let the line L_1 which has the equation Ax + By + C_1 = 0 be

parallel to the line L_2 which has the equation Ax + By + C 2 =
0. If d is the distance between the parallel lines L_1 and L_2,

then |IC - C |
d = 1 2
\/A2+ B’




	สไลด์ 1
	สไลด์ 2
	สไลด์ 3
	สไลด์ 4
	สไลด์ 5
	สไลด์ 6
	สไลด์ 7
	สไลด์ 8
	สไลด์ 9
	สไลด์ 10
	สไลด์ 11
	สไลด์ 12

